Form P-359 Rev. 12-19-2007

TABULATION

sis				CONTRACT NO.:	H-15-250R	DATE OPENED: 2/10/2015
				- FOB:	Wynne, Pine Bluff, Barling, Camden & Harrison, AR	PAGE: 1 of 5
PO Bo Bentor Rick La 501-68	x 1649 n, AR 72018 ayton 80-2359					
QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
2	24,117.00	48,234.00	2015 Ram	3500	90 Days ARO	2015 Fleet Order Cutoff
1	38,917.00	38,917.00	2015 Ram	4500	90 Days ARO	2015 Fleet Order Cutoff
2	25,823.00	51,646.00	2015 Ram	3500	90 Days ARO	2015 Fleet Order Cutoff
	TOTAL:	138,797.00				
MMEND	ED AWARD:	90,563.00				
TATIVE	AWARD BY:	Purchasing Comn	nittee		DATE: 3/6/2015	CARD: 00-25
	,				22. 0.0.2010	
Δ۱۸	,		Dodge Jeen (3/19/2)	015)	_	
	PO Bo Bentor Rick Li 501-68 QTY. 2 1 2 MMEND	Landers Chrysler Do PO Box 1649 Benton, AR 72018 Rick Layton 501-680-2359 QTY. PRICE 2 24,117.00 1 38,917.00 2 25,823.00 TOTAL: MMENDED AWARD: TATIVE AWARD BY: ITEM(S):	Landers Chrysler Dodge Jeep PO Box 1649 Benton, AR 72018 Rick Layton 501-680-2359 QTY. PRICE EXTENSION 2 24,117.00 48,234.00 1 38,917.00 2 25,823.00 51,646.00 2 25,823.00 51,646.00	Landers Chrysler Dodge Jeep PO Box 1649 Benton, AR 72018 Rick Layton 501-680-2359 QTY. PRICE EXTENSION MAKE 2 24,117.00 48,234.00 2015 Ram 1 38,917.00 38,917.00 2015 Ram 2 25,823.00 51,646.00 2015 Ram TOTAL: 138,797.00 MMENDED AWARD: 90,563.00 TATIVE AWARD BY: Purchasing Committee ITEM(S): 2 & 3 ONLY	Landers Chrysler Dodge Jeep	FOB: Wynne, Pine Bluff, Barling, Camden & Harrison, AR Landers Chrysler Dodge Jeep PO Box 1649 Benton, AR 72018 Rick Layton 501-680-2359 QTY. PRICE EXTENSION MAKE MODEL DELIVERY 2 24,117.00 48,234.00 2015 Ram 3500 90 Days ARO 1 38,917.00 38,917.00 2015 Ram 4500 90 Days ARO 2 25,823.00 51,646.00 2015 Ram 3500 90 Days ARO 1 38,917.00 38,917.00 2015 Ram 3500 90 Days ARO 2 10 10 10 10 10 10 10 10 10 10 10 10 10

Form P-359 Rev. 12-19-2007

TABULATION

Cab & Chassis					CONTRACT NO.:	H-15-250R	DATE OPENED: 2/10/2015
					FOB:	Wynne, Pine Bluff, Barling, Camden & Harrison, AR	PAGE: 2 of 5
	PO Bo Morrillo John N 501-35	on, AR 72110 //agie 54-4541					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	26,571.00	53,142.00	2016 Ford	F350	90 Days ARO	2016 Fleet Build Out
2.	1	38,945.00	38,945.00	2016 Ford	F450	90 Days ARO	2016 Fleet Build Out
3.	2	29,307.00	58,614.00	2016 Ford	F350	90 Days ARO	2016 Fleet Build Out
TOTAL: 150,701.00							
RECOMMENDED AWARD: 0.00							
							CARD: 00-25
TEN	TATIVE	AWARD BY:				DATE:	
		ITEM(S):				_	
	AW					_	

Form P-359 Rev. 12-19-2007

TABULATION

Cab & Chassis					CONTRACT NO.:	H-15-250R	DATE OPENED: 2/10/2015
					FOB:	Wynne, Pine Bluff, Barling, Camden & Harrison, AR	PAGE: 3 of 5
	PO Bo Walnu Keith E 870-88	t Ridge, AR 7 Brawley 86-3561	2476				
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	22,289.00	44,578.00	Ford	F 350 Reg. XL	120 Days ARO	End of Model Production
2.	1		N/B				
3.	2		N/B				
TOTAL: 44,578.00							
RECON	ИМЕND	ED AWARD:	44,578.00				
							CARD: 00-25
TENTATIVE AWARD BY: Purchasing Committee						DATE: 3/6/2015	
		ITEM(S):	1 ONLY			_	
	AV	VARDED TO:	Cavenaugh Auto	Group (3/17/2015)		_	

Form P-359 Rev. 12-19-2007

TABULATION

Cab & Chassis					CONTRACT NO.:	H-15-250R	DATE OPENED: 2/10/2015
					FOB:	Wynne, Pine Bluff, Barling, Camden & Harrison, AR	PAGE: 4 of 5
	PO Bo Bentor Rick La 501-68	n, AR 72018 ayton 80-2359					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	22,520.00	45,040.00	Ford	F 350	90 Days ARO	Fleet Order Cut Off
2.	1		N/B				
3.	2	26,694.00	53,388.00	Ford	F 350	90 Days ARO	Fleet Order Cut Off
		TOTAL:	98,428.00				
RECOMMENDED AWARD: 0.00							
							CARD: 00-25
TEN	TATIVE	AWARD BY:				DATE:	
ITEM(S):						_	
	AV					_	

Form P-359 Rev. 12-19-2007

TABULATION

Cab & Chassis					CONTRACT NO.:	H-15-250R	DATE OPENED: 2/10/2015
					FOB:	Wynne, Pine Bluff, Barling, Camden & Harrison, AR	PAGE: 5 of 5
	PO Bo Bentor Rick La 501-68	30-2359					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	23,849.00	47,698.00	2015 Chevrolet	Silverado 3500 HD	90 Days ARO	2015 Fleet Order Cut Off
2.	1		N/B				
3.	2	26,557.00	53,114.00	2015 Chevrolet	Silverado 3500 HD	90 Days ARO	2015 Fleet Order Cut Off
		TOTAL:	100,812.00				
RECOMMENDED AWARD: 0.00							
							CARD: 00-25
TENTATIVE AWARD BY:						DATE:	
ITEM(S):						_	
	AW					_	